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nodul e register(clk, rst, d, g, load);

i nput clk, rst, load;
i nput [7:0] d;

out put [7:0] q;
reg [7:0] q, gNext;

al ways @ ( posedge clk)

i f (rst)
g <= 8b0;
el se

g <= gNext;

end

always @ (d or q or load)
i f (load)

gNext = d;
el se
gNext = q;

end

endnodul e

par amet er
par amet er
par amet er
par amet er
par anmet er
par anmet er
par amet er
par amet er
par amet er
par amet er
par anmet er

begi n

begi n

nmodul e fsmFred(clk, rst, i, Z1, Z2);

ST_A =11’p00000000001;
ST_B = 11’p00000000010;
ST_C = 11’'b00000000100;
ST_D = 11'b00000001000;
ST_E =11'b00000010000;
ST_F = 11'b00000100000;
ST_G =11'b00001000000;
ST_H = 11'b00010000000;
ST_I =11'b00100000000;

ST_J =11'b01000000000;
ST_K =11'b10000000000;

i nput clk, rst, i;
out put 71, Z2;

regZ1, 72,
r eg [10:0] state, nextState;

al ways @ ( posedge clk) begi n

i f (rst)

state <= ST_A,

el se

state <= nextState;

end

al ways @ (i

Z1=0;
22 =0;

or state) begi n

case (state)

ST_A:

begi n

i f (i) nextState = ST_B:

el se

end
ST B:

nextState = ST_C;

begi n

i f (i) nextState = ST_F;

el se

end
ST C:

nextState = ST_D;

begi n

i f () nextState = ST_G;

el se

end
ST_D:

if ()

nextState = ST_E;

begi n
begi n

nextState = ST_G;
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Z1 =1,
end
el se nextState = ST_E;
end
ST E: begi n

i f () nextState = ST_G;
el se nextState = ST_E;
end
ST_F: begi n
i f (i) nextState = ST_F;
el se nextState = ST_D;
end
ST G: begi n
if (i) begi n
nextState = ST_H,;
Z2 =1;
end
el se nextState = ST_D;
end
ST H: begi n
i f (i) nextState = ST_H;
el se nextState = ST_J;
end
ST I begi n
if (i) begi n
nextState = ST_H;
Z2=1;
end
el se nextState = ST _J,;
end
ST J: begi n
i f (i) nextState = ST_|;
el se nextState = ST K;
end
ST_K: begi n
i f () nextState = ST_I;
el se nextState = ST _K;
end
endcase
end
endnodul e

nodul e fredTester();
reg clk, rst, i;
wrezl, z2;

fsmFred fred1(clk, rst, i, z1, z2);

al ways begin
#10;

clk ="clk;

end

i nteger j, k;

initial begin
rst=1;

clk = 0;

i=0:
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0; #20;
1; #20;
0; #20;
i = 0; #20;
i =0; #20;
i=1; #20;
i =1; #20;
1; #20;

for (=0;j<1024;j=j+1)
rst = 1; #20;
rst=0;
for (k=0;k<10;k=k+1)
i = j[K]; #20;
end
end
end

endnodul e
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begi n

begi n



